
Spiel 1 Spiel 2 Gesamt

Spiel 032 15:09 C 04 MARTISCHNIG Michael 52 + 53 = 105

C 07 HESSL Christian 56 + 60 = 116 # # #

Spiel 033 15:18 C 05 EXENBERGER Johann 54 + 66 = 120 #

C 03 ÖLLERMEIER Fritz 61 + 69 = 130 # O # # #

Spiel 034 15:26 C 06 ABENTHEUER Rudolf 52 + 62 = 114 # #

C 02 GÜNTHER Reinhard 65 + 50 = 115

Spiel 035 15:34 C 01 STADLER Herbert 48 + 57 = 105 #

C 07 HESSL Christian 61 + 46 = 107 #

Spiel 036 15:44 C 04 MARTISCHNIG Michael 60 + 63 = 123 O # #

C 05 EXENBERGER Johann 45 + 66 = 111 # # #

Spiel 037 15:52 C 03 ÖLLERMEIER Fritz 54 + 56 = 110 # #

C 06 ABENTHEUER Rudolf 52 + 52 = 104 #

Spiel 038 16:01 C 01 STADLER Herbert 54 + 60 = 114

C 02 GÜNTHER Reinhard 64 + 48 = 112 O

Spiel 039 16:10 C 07 HESSL Christian 49 + 59 = 108 #

C 05 EXENBERGER Johann 50 + 59 = 109 #

Spiel 040 16:21 C 06 ABENTHEUER Rudolf 49 + 67 = 116

C 04 MARTISCHNIG Michael 53 + 57 = 110 #

Spiel 041 16:29 C 03 ÖLLERMEIER Fritz 67 + 57 = 124 # # #

C 01 STADLER Herbert 55 + 57 = 112 #

Spiel 042 16:38 C 02 GÜNTHER Reinhard 52 + 60 = 112 # #

C 07 HESSL Christian 49 + 57 = 106 O O

Spiel 043 16:47 C 05 EXENBERGER Johann 55 + 61 = 116

C 06 ABENTHEUER Rudolf 51 + 54 = 105 #

Spiel 044 16:54 C 01 STADLER Herbert 59 + 59 = 118 # # O

C 04 MARTISCHNIG Michael 54 + 65 = 119

Spiel 045 17:05 C 02 GÜNTHER Reinhard 54 + 50 = 104 # # O

C 03 ÖLLERMEIER Fritz 47 + 48 = 95 #



Spiel 046 17:14 C 07 HESSL Christian 46 + 65 = 111 # O # O

C 06 ABENTHEUER Rudolf 43 + 51 = 94

Spiel 047 17:23 C 05 EXENBERGER Johann 54 + 64 = 118 O # # #

C 01 STADLER Herbert 58 + 69 = 127 # # # #

Spiel 048 17:34 C 04 MARTISCHNIG Michael 58 + 58 = 116 # # O

C 02 GÜNTHER Reinhard 59 + 54 = 113 O

Spiel 049 17:44 C 03 ÖLLERMEIER Fritz 49 + 60 = 109 # O

C 07 HESSL Christian 57 + 65 = 122 O # #

Spiel 050 17:52 C 01 STADLER Herbert 52 + 60 = 112 O #

C 06 ABENTHEUER Rudolf 37 + 57 = 94

Spiel 051 18:04 C 02 GÜNTHER Reinhard 66 + 47 = 113 O

C 05 EXENBERGER Johann 60 + 58 = 118

Spiel 052 18:13 C 03 ÖLLERMEIER Fritz 48 + 64 = 112 O # #

C 04 MARTISCHNIG Michael 58 + 47 = 105


